;gzsi‘pr&; %mﬁvxa—xﬂitaﬂisﬂﬁ%
E :2013 26H S #*_ BES
BRAE EBERAEHAE Sk ERS FFRE—E
(A B 111 2[L 30 I 47 I 5%L [R5 L5 8Tt
M30 B ZEHh(34) 11761
5/26 100m K=
+1.3 =&
B ZHh(34) 23742
5/26 200m
+0.4 =&
B ZH(34) 7738
5/26 60m - ¥
+0.1 =1
M35 [T ﬁsn 11783
5/26 100m K=
+1.3 =g
T B=T(39) 219740
5/26 800m
FEiE]
[RE fA(39) 443738
5/26 1500m
[RE RH#B9) 1725728
5/26 5000m ) REH
M40 EER—ER(42) 11799 EX &H&@4) 12726] %k (Rm(44) 12768
5/26 100m K=
+1.3 IEH 473 B
L HEi44) 25722| Xk fmth(44) 26728
5/26 200m
+0.4 #BIEk =gk
I FHH4s) 57791
5/26 400m
XE B4 1902704
5/26 5000m e
E R —ER(42 7760
5/26 60m
+0.1 FEiE]
M45 BEE HE@U5) 12761 RE ZZ(48) 13"54[REE—ER(45) 13 61|1R3F Zia(49) 13782
5/26 100m K=
+1.0| ER _ =y i = p]e =13
AEiE HLE(45) 8703[/RF ZEH(49) 8773
5/26 60m
+0.1 BERE =i
M50 W Bm—(54) 12780|#&IL [H—(54) 13711
5/26 100m K=
+1.0 BERS FERE
RO (1) 538757
5/26 1500m " K=
RO (1) 2108784
5/26 5000m
W Bm—(54) 8704|F @ RRAGO0) 8773
5/26 60m
+0.1 IR BHE
M55 s =((67) 501758
5/26 1500m
= IBEE
&  =(57) 1816716
5/26 5000m
SR

1/7




2.
#AH:2013E5H26H s #*_ BES
BRAE EBERAEHAE Sk ERS FFRE—E
(A B 1T 2[L 30 I 47 I 5%L [R5 L5 8Tt
M55 ARE #1E(56) 8”68
5/26 60m
+0.1 FEE]
o/ M60 100 f2E 1a64) 13789|HE mRiE(61) 14720[%R% HA(60) 14731[52 3 ZEAGI) 15724 R E—(64) 15759
m
-0.9 FEE] HEIH BE 2 fif) Bi%
A G4  29732|RE HEAGD 32769 =
5/26 200m
+1.5 FEFR E=l |
£k BL(62) 237 24|EifE BEAE(61) 237770
5/26 800m N
HF TR
£ L(62) 526705[% FW=(63) 642756
5/26 1500m
__BMA B
3D W=1(63) 1404784
5/26 3000m “
Hn
FET BH62) 8779|RIE BE_(64 9784
5/26 60m
-0.6 __EBERE £ [
M65 i EHH69) 1375671l EHEG7) 13794IlLO0  R(@67) 14797
5/26 100m
-1.2 =576 B ELXR

Il EEE7) 28715|% . EH(69) 28734

5/26 200m
+1.5 ?mﬁﬁ
AR JERE(69) 107748k B MEE(68) 114714
5/26 400m - s
AFF E&zﬁ(eeﬂ 254791|HR #%%(65) 309705
5/26 800m win g
< BE fég) 55070485 K —(67)E 556 62|/ #%k(65) 602785
5/26 1500m
BER B[ 2
A BRE(66) 124074185k —(67) 1305 71|F/m 3kX(65) 132165
5/26 3000m
BERE B[ 5|
i EH69) 8”747|7 Il EHEG7) 8757(IuO  F(67) 8791
5/26 60m - - et
-0.6 =
M70 BE E570) 15704 B
5/26 100m
-1.2

B[
NIk B&(4) 136762

5/26 400m
_ = I3
Fi ERXRAD 251734|@+F BT 310787|)IIE Bs&=(74) 336773
5/26 800m . - -
HR N =
R2# ERT) 549707+ mAE(71)  601788[JIIF BFZE(74) 711778
5/26 1500m )
RER IV ISR
BaA EAE(71) 1319729
5/26 3000m
AV
M75 & BE09) 15742| % B®2(76) 16782 EXK B &(79) 18753
5/26 100m K=
-1.2 il = I5PE = I5PE

2/1



TR255EE BRI —XREEFREES
HH:2013455 A 26

BFiRE—

RS EIREREEE AR FikELFERS
(A B 111 2[L 30 I 47 I 5%L [R5 L5 8Tt
M75 & BE09 32735|#k M E(76) 36765
5/26 200m
+0.3 B = I57E
FHEAMEBEGTS) 410710
5/26 800m
LR
FHEAMEBGTS) 826725
5/26 1500m
LR
FHEAMEBTS) 1750747
5/26 3000m
ELR
) £ BE09) 9”81|&kE H2(76) 10755| KB #&(79) 11736
5/26 60m
+0.4 ] = o] U5 TE
M80 R AFB1) 14757| B8 FA(83) 17727| At #AHE8Y) 22793
5/26 100m K=
+0.4 RiZ IV B
R AFB1) 30752
5/26 200m
+0.3 Ri%
BE AFk@1) 9729| B8 FIA(83) 10765 At #iH(84) 14710
5/26 60m
-0.7 Bi5 /MR HME
M85 TR ﬁ&ﬁrs(fn) 20747
5/26 100m
+0.4 EiEit
A ARER(8T) 12743
5/26 60m
_=uFdt
5/26 /J\;qu%?g F A&EW 14”55(hEE FEEE(1) 15718|F & #H(1) 15746[ILTF  {=(1) 16707[ E5 Bei_(1) 16721 RE BEE(1) 19765
m
-0.5 HEDEZ %g SepEL SeBE E R DEZ maof;i Bt Bkt
, INEXEEBF [EF MO 14726| 1K &H:F(2) 14737 [EZE(2) 15730k H ##XK(2) 16712 EE®) 17717
5/26 80m
+0.1 FrdehELE = il ZAapEL HEakEL FtbEL
INEIFAERF (LT RO 17710[ 58 ENQ) 17739[ R &R GEHR) 17745|EH #HFQ) 17763| LB H4£E®) 18710|IH ZRZ1(3) 18716 KIE F(3) 18735[& T~ #:E®) 18764
5/26 100m -16 -2.2 -2.2 -1.6 +0.6 -2.2 +0.6 +0.6
BEDER Faithyazy [ichiic ey A EISFEREE EIEFERE IR BAEE Al b
526 /J\_?MEE%E F a0 14794[ILF Bk(4) 15734|F % IRER4) 15769 KK =@ 16773 A =514 17789
m
+0.4 HEDEZ EiETEREL Bty 17 __ HEAEE HEAEL _
INESEEBF |[FK BNEG) 15705)BF =G) 1575320 &E®G) 15761|Hm BEIr() 15792 ILARTEAER(5) 16778[ =B AER(G) 16798] B3R E&Z(5) 17732[FIEH  [E(5) 17780
5/26 100m +0.8 -1.3 -1.3 +0.8 +0.8 +0.8 -1.3 -1.3
FUFERE 7 RY—b EUSTERE L Fjthy 1-7 ATk AT RY-F FHithy 127 ﬁ_gggﬁﬁlléi—
INEEEERTF [BA X6 13749|% K& (6) 13756|EAX E#i(6) 14745|FkIR E(6) 14762|E EAK(6) 1477470 B (6) 14783[{iE Z(6) 14785 B = R AHN(6) 14796
5/26 100m . -0.7 petio -0.7 -1.6 - -1.6 — -0.9 J—— -1.6 p -0.7 58 X -1.6
5@‘ )= RIED i $z STZ' 7 :/’1:7 E @ui S.t E o] % % 7XIJ_
INEERBEF (T EX6) 3'21746|7KT Kih(6) 3'31758|F = MRE(6) 333 B FE =mé) 354788|Fk REEM) 3'58777|h[E # 3 (5) 407787(%& R EE®M) 409769|fE18 FWBK(6) 517736
5/26 1000m
AMERE EiTERE SeBE E SeBE E AMERE AUERE AlgpE SeBE E
=iawEEL 58786| A DIE A 58708[FG M 127 1'00" 44| AR 417 1) —FB 1'03"24| =57 E_EB 1'03"65|757%DILZB 1'07795 Méllﬂ: 1'08"27|#Fr ke L 109793
e BEE(6) & THEG A K—(6) hA BAEO) B #ithe) WT  JREO) % EE4) EH 1EA6)
5/26 4x100mR| BIEH [E5) #  KR#H®6) R i) mmﬁkﬂﬂ(& Kt Kih(6) PO 2R 432 50 BR(5) ifﬂﬂm: 2X(6) =18 REZ(6)
S FRAR(6) E EHE(B) HE RERA) AER(5) AE ZE(6) HNE #ENG) YRR 184£4) NV PNG)
v S/ ¥ G)] LB FREE6) BELL EF(6) ,E# () £0 &EiEG) L% BEHIG) fg #8356 Fs FEH6)
CB¥ % EQ) 13"07|K$g EiL(19) 13782
5/26 100m
+0.4 FrLUY TAY=b FrLUY T A=
BE FEd9) 2573588 EE(24) 26772
5/26 200m
+0.4 FrLuy FAY=b FrLboy FAY=b

3/7




;mzsiﬂ&; %mﬁvxa—xﬂitﬁﬁﬁzsﬂﬁ% =
HAH:20134%E5H26H ShpE —ES
BRAE EBERAEHAE Sk ERS FFRE—E
(A B 111 2[L 30 I 47 I 5%L [R5 L5 8Tt
CB¥ JI#EA2 K ER(19)  6'10725
5/26 1500m
FrLoy TAY=b
B8 BH&EGB0) 1850720
5/26 5000m
FrLoy A=k
NI BR(BO) 20788[EH BEW@0) 22 23|28 KE(14) 44739
5/26 HEHF100m
+0.4 FrLoY 7 RY-b FrLUY TRY=b FrLUY T RY-b
M40 BEX FE4) 7m30
5/26 ran
BEIRF
M45 AR EBR349) 3m40|EAR  1&(46) 2m80
5/26 BEk _
18 [iE] = IR
EZ D) 42m18
5/26 PYE
EI5E
M50 FHRE RE(G0) 4m66
5/26 E Bk -0.9
BHE
AT 182(50)  32m8i
5/26 A +
M55 fIl &) 1m25
5/26 E= Bk
=g
thill &HBAGT) 4m19( "R ##2(59) 3m68
5/26 E Bk +0.7 +0.4
=ik EISE
il &H8A(BT) 8m82
5/26 =Rk -0.1
=g
R ##(59) 19m24
5/26 A
=G
R ##(59) 22m67
5/26 PYE
_EIEE
M60 HFE F0AI62) 2m20
5/26 BE Bk S
FET B=H62) 5m14[=ZE  HA(60) 4m60| FJII ¥—(64) 3m18
5/26 ENE Bk . +1.3 - +0.4 o -0.1
EJL E Jb%
FETEH62) m72[FEH 1561 8m39
5/26 ZERBk . -0.5 - -0.6
Eb)b% = Wa
He MEHG1)  10m23[=iE  U(64) Im19[FRIF 1E—(64) 8m65|hE fE18(64) 8mb1
5/26 ran
_ HEIRF = _ER =
i =B U164 29m85|H= MHEA61) 29m80(FE  {5(61) 28m58|BIE 1B =(64) 27m53|F £ F0HI(62) 25m81[EA& JEX(G1) 21m25
5/26 A&
_= _ HEIH = ISR ] = EISE
=8 {5(61) 35m98|Z=iE  UN(64) 27m00| B lEXk(61) 22m18
5/26 PYE
= I =i =ISE
M65 =8 3CH(65) 2m80
5/26 EE B -
BeE

4/1




;mzsiﬂ&; %mﬁvxa—xﬂitaﬂisﬂﬁ% =
HAH:20134%E5H26H Stk —ES
BRol EREHABHAR BIFEFEES FFRE—E
(A B 111 2[L 30 I 47 I 5%L [R5 L5 8Tt
M65 =8 3CH(65) 30m70
5/26 A ok
BeE
M70 HE B3 8m64
5/26 =Rk +0.7
HEIMF
M75 & BHMEQ9) 3m34|FTfE F&=(75) 3m19
5/26 ENRBE +0.7 ) -038
LR HEEE
& BHMEQ9) Tm16
5/26 ZERBk +0.3
ELR
IR BET9) 27m13
5/26 A
=S
IR BET9) 27m67
5/26 PYE
= IS
M90 BEE —ER(93) 4m88
5/26 ran
= IS
BEE —ER(93) 12m04
5/26 A
= IS
FEE —ER(93) 10m07
5/26 PYE T
NEEXBEF|EF mae®6) 1m22| FE ZEE(6) 1m00
5/26 E =Bk
HEDEZ HEDER
_ & ®®F® Am31[7reh BEE(6) 4mO8[ILE ZX(6) 3mb4[ B Z R AER®) 3mBO[RAR  K(6) 3m46[AHE FE(G) 3m36| EF BEFA() 3m24[FF BTG 3m20
5/26 E Bk -0.5 +0.8 +0.2 -1. -1. +0.4 -1.2 +0.4
HEDIEZ i) ARHET7RY—b AT A)-F AT R)—b BEDIEZ BHEDIEZ AT A)—F

5/7




;mzsiﬂ&; %mﬁvxa—xﬂitﬁﬁﬁzsﬂﬁ%
HAH:20134%E5H26H shoRge_ EE
BRAE EBERAEHAE Sk ERS XFREBE—R
(A B 111 2[L 30 I 47 I 5%L [R5 L5 8Tt
W35 EDHETF(36) 14793
5/26 100m
+1.0 REE
B % EF(36) 9723
5/26 60m
-14 RES
W40 BJIHEFF(40) 618750
5/26 1500m )
mJIMEFF(40) 10709
5/26 60m
-14 _RES
W45 fER RIEE(49) 1321768
5/26 3000m
g
W60 IRTiEREGI) 16752
5/26 100m
+1.0 AR
ElE EF(@60) 314724
5/26 800m
=8%
BB EF6G0) 6'11712[KE #F60) 632764
5/26 1500m
=B =i
BB EF@60) 1326781| K\ #AF(60) 1434758
5/26 3000m
= = e
W65 AZET=A(67) 18758
5/26 100m
+1.0 B
W70 RKEETF(T2) 19755
5/26 100m
+1.0 =%
RKEETF(T2) 44743
5/26 200m
+0.5 =%
RKEETF(T2) 11774
5/26 60m
+2.1 =%
s ZEA(T2) 2130713
5/26 3000mW
1INk
W80 X&E EF82) 12779
5/26 60m
+2.1 $H
52 /J\?Zﬂiitcs% B =EX&Q) 157 72|87 X2 (2) 15”81 NEHIEEF|(2) 16740
m
+0.1 UG FERE E%ﬁmﬁt EUEFERE
52 /J\?Sﬂiitﬁg PNTIT:ESESE)) 177322/ Bi&E®) 177458k #h(3) 18745|F NI EZEQ) 18797[#E BE(@O) 20726
m
+1.6 - Ey‘ﬁﬁﬂii - _Eﬂniﬁsii - = I Jric] :J: = I3 ic] ::J: E}.ﬂ_ﬂ,:/'l:T
526 /J\$4£E$t1c£ BAFED®) 15 192 EE A0 16 103 Tt TEE@ 16712 HE i%w 1673471 £ &K@ 16739|EH E3(4) 167750 Fi+(4) 16781[#E KAE@) 17705
m -1. -1. +0.0 +0.0 -16 -0.9 -16 +0.0
- ___EBAEEE __BEApEE | vy i DEZ EUGFEE SepE E gt 17 _ ARIWFRY-
526 /J\%sfﬁitﬁg A 3R AG) 14 072 AR & P75(5) 15 Ozg Bl FikG) 15”02;1 FRAEFOG) 157 73|Ff EX05) 1578518 & #F(5) 16710| 581 B E(5) 16728| ER B EF(5) 16737
m -0. -0. -0. -0.3 -0.5 -1.4 -14 -0.3
AT R = AT R—b =S FERE Faithy 1-7 AT R = ity 2=7 = USFERE L Faithy 1=7
526 /J\isﬂzitﬁg W #EF(6) 14”10(7) EBINZD#A6) 14"138 HINZEDHB) 14773| B B (6) 14794 R B #H F(6) 15701[=R XIE(6) 15709[(EL 3<H(6) 15720[;aT %7 HKEE(6) 15729
m _ +1. +. +3.0 -0.5 -1.2 +3.0 +3.0 -05
=Y ic] o ARETFAY-F EIGpFEEE AREFFAY-F AREFT7AY-F EIGFEEL FrokiEL DR

6/7




;mzsiﬂ&; %mﬁvxa RE LB ERE
HAH:20134%E5H26H Stk —
RS EIREREEE AR FikELFERS t%'kﬂﬁ
(A B 111 2[L 30 47 5%L [R5 L5 8Tt
INEERELF|EL EBeG6) 2'34720()I4& FHAC6) 2'35708|/NEF EFi(5) 2'37798|{E AT E®)  2'45750|FUE BEAH(E) 2'58"07
5/26 800m
FfELE FpELE FpELE FehEL FpEE
EX AU 56789(FTEBEE 1°00”30| A< 4B7 R1—IB 101726 = I FakE £ 1'02"33[# Y 127 102794 H & AEE 103757 %ﬁﬁ‘u’:ﬂéJ:B 104”09 #&thY 1=7B 104767
TEEHMFG AL E0K(6) {EBEHALLMG) &0 B#ie6) IR AEFG5) B FHE@) TR B L hEEF(5)
5/26 4x100mR| EB#{HF(6) INEF EEF(5) L€ RE () wWifE HEF(6) HaE #7506 LR () g IBH*KS) X% kR&E®)
EBE BA6) f2EMTE®6) E£505(6) =R KI6) 25 PAF(5) =0 B5H5) AR BROG) E#‘EHH(S)
EB/NCDAHE) JI{R ZEH0(6) HH =H6) HIZFEDH\6) T BEE®6) B HIH6) =55 EE®G)
C&Z¥ g RK(24) 37774
5/26 200m
+0.5 FrLUY A=
B m&@1) 106793
5/26 400m
FrLUY 7RY—b
O B=(20) 113730
5/26 HE#F100m
+0.4 FeLUY T A=
W60 EHPH#F(60) 1m90
5/26 BEk )
RES
EHPH#F(60) 3m42
5/26 EvEEk _ -0.8
e
E B HF(60) Tm67
5/26 ZERBK -0.9
REES
W80 K@ ¥F(82) 5m63
5/26 At
B
KB F=F(82) 12m28
5/26 PYE
£ H
, /J\ﬁié&iﬁg}t EEEINAG) 1m16|EZ 5V 5(6) Tm13|EH HT3(6) Tm13
5/26 =)
=G FEE AT A1) —b __ ®Ba _
IR 3mI1 [{EBEHNLLNE) 3m60( S/ KIH(6) 3m58|ER &) 3md7[BEE ZER(6) 3m22[ERHE #F(6) 3m07[ &k mA&(6) 2m92[%E 1DE() 2m52
5/26 =Bk -22 +0.1 +1.1 -0.6 +0.2 -0.4 +1.4 +1.5
BEDOIER AT Y= HIEFEREEE SRETS AT 21—k AT RY = A7 R AT A=
W30 A+t H%2(30) 7m89
5/26 At
1874
A+t H#2(30) 22m91
5/26 F#E%
1874
A+t H#2(30) 24m43
5/26 PYE
211271

1/17




